What's a bulk scheme?
* Predicts bulk quantities of water (mass,

number) in a grid box o o

Fast enough to be used for forecast W h e n E St I I I l at I n g
Often comes with assumptions

« DSD shapes, categorization of liquid, etc.

MP Schemes Used

e BOSS
* Online training using perturbed parameter
ensemble, but power laws based (2-cat)
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What did we do? Diameter [m]
e Compare individual processes runs between 2- Scan to Download!

cat BOSS, 2-cat AMP, 1-cat AMP, and TAU.
e Sedimentation and collision-coalescence

Use AMP's moment inversion routine to
diagnose DSD from BOSS




